— %
Coma ———— A=
=T X C:TXF a=ro M,

_ M, - M, - M
Q= 9 E g, =,
M+ M+ T3 P My T
& . -

_____1————-"’_-——_‘ Z
M )
MY Mot T3
! L 'Z— M("'Mz+ M'S
e
-
eqs = {
mlg - t1 = mlal,
m2g - t2 = m2a2,
tilr - t2r == 'iSCI,
al = -a2,
al =ra}
fgml-tl==alml, gm2-t2==a2m2, rtl-rt2=1430, al=-2a2, al =raj}
. 1 2 bl
Solve[egs, {al, a2, a, t1, t2}] /. {13 -;Em?.r} /7 Simplify
r 2g (ml-m2) 2g (-ml+m2) 2g (ml-m2) gml (4 m2+m3) gm2 (4ml+m3)
{al-; g 325 ———, a - , t1 = . - }}
L 2ml+2m2+m3 2ml+2m2+m3 (2ml+2m2 +m3) r 2ml+2m2+m3 2ml +2m2 +m3 -
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